€y

()
®3)

kg

kg

kg




kg

km/h
¢9)
kn/h km/h km/h
km/h km/h km/h km/h km/h km/h km/h
@ @
W)
W)
(N/(kn/h) )
(kn/h)
(€))
¢9)
km/h km/h km/h km/h kn/h km/h kn/h km/h
@ @



®3)

€Y

2)

®3)

@D

2)

€9

(2)

km/h

km/h

(kg)
(m)
(kg)

I+

H

@

@

km/h

(kn/h)

km/h

I+

kPa

I+

km/h

I+

I+

km/h

(N-m)
(N-m)
(N n/(kn/h) )
(kn/h)

km/h

km/h



®3)

€y

(2)

®3)

@

(b)

©

2.1.1.1(1) 10 15

I+

km/h

10 15
15

km/h

km/h

&)



€Y

2)

€9

2)

®3)

“4)

®)

(D

©)

@

€y

10.15

(kPa/km)

(kPa/km)

)

&)

(kPa) (kPa)
(km/test)x  (test)
(kPa) (kPa)
(km/test)x

(kPa)
(kPa)



€Y

2)
®3)

mmHg

kPa




“4)

€y

&)

I+

I+

kPa

I+

I+




€9
(2)

rpm/sec

(min
(min
(min

(rpm))
(rpm))
(rpm))

Hz



Hz

(min  (rpm))
(%)

(min  (rpm))
(min  (rpm))

(Nm)

(%)

(Nm)



(rpm) (Nm) (kW)
(rpm) (Nm) (kW)
rpm
(SB)
+ rpm + Nm + kW

€Y

- 10 -




)

3
€y
@)
4)
(kPa/km) (kpa)(km/test)x ()
(kPa)
(kPa)

- 11 -



kW/min

L

kPa

kPa

(DC/DY EC/DY AC/DY)

kPa kPa
(km/h) (min ) (Nm) (min)
) (kPa)
(kPa) (kPa)
(kPa/km)
(km/test)x
kPa/km
10.15
(kPa) (kPa)
(kpa/km) (km/test)x
kPa/km

- 12 -



